Unit 7: Decisions, Decisions

Content:
® Factors of production
e Costs and benefits
e Types of businesses
e Markets
e Supply and demand
® Business cycle
e Fiscal and monetary policy

Essential Question:
How does scarcity affect
decision making?

Conceptual Lens:
Scarcity

I Can...

| can define scarcity and explain how it is the
fundamental economic problem

| can identify the four factors of production and
explain how they are used in the production of
goods and services

| can differentiate trade-offs and opportunity costs
| can describe the roles of profit and price in a
market economy

| can identify synonyms for a market economy

| can identify why private property is an essential
part of a market economy

| can explain how competition regulates quality and
price in a market economy

| can describe how laissez-faire and the Invisible
Hand regulate a market economy

| can explain how supply and demand work together
to set the equilibrium price

| can use supply and demand schedules to create
supply and demand graphs

| can interpret supply and demand graphs

| can identify factors that cause supply and demand
curves to shift

| can identify factors that affect elasticity

| can identify how incentives influence decision-
making

| can identify factors other than profit that influence
economic decisions

| can identify the features of different types of
businesses and describe advantages and
disadvantages of each

| can explain the role of banks in the economy

| can describe economic features of North Carolina’s
economy

| can describe factors that affect the US economy

| can describe the phases of the business cycle and
identify them on a graph

| can identify different economic indicators and
explain how they are used to measure the economy
| can define monetary policy and fiscal policy and
explain how they are used to regulate the economy
| can describe how the Federal Reserve regulates the
economy

Essential Standards:
CE.E.1.1 Compare how individuals and governments utilize
scarce resources (human, natural and capital) in traditional,
command, market and mixed economies.

CE.E.1.2 Analyze a market economy in terms of economic
characteristics, the roles they play in decision making and
the importance of each role (e.g., private property, free
enterprise, circular flow, competition and profit motive, and
allocation of resources via the price system).

CE.E.1.4 Analyze the ways in which incentives and profits
influence what is produced and distributed in a market
system (e.g., supply, demand, What to Produce?, How to
Produce It?, How Much to Produce?, For Whom To Produce
It?, free enterprise, etc.).

Preview Questions:

1. How does our economy help those that can’t afford to live?

2. What type of business would you like to own one day? Could you
handle the responsibility?

3. List five things that are scarce. How is shortage different from scarcity?

4. What are surplus and shortage important in determining the prices of
goods?

5. What makes a Ferrari so expensive to purchase?

6. Would you ever consider going into business with someone else? List 3
advantages and disadvantages.

7. Before you're able to start your own business, list four things that you
would have to do.

8. Why are supply and demand important when you own your own
business2

9. How do businesses help consumers? How do consumers help businesses?

10. How does the government benefit from the people owning businesses?

11. What is going on in our economy today that would lead people to say
that we're in a recession?

12. What causes businesses to have their ups and downs?

13. When the government spends money, what is the short-term goal?

14. What gives money its value? What are the benefits of using money?
Problems?

15. What steps should the government take to help the economy today?

16. What does it mean to be productive? How have you been productive
today?




Unit 7 Voeocaloularny

Term Description

Economics

Scarcity

Supply

Demand

Goods

Services

Opportunity Cost

Factors of Production

Land (economics
version)

Labor (economics
version)

Capital (economics
version)

Entrepreneur

Capitalism

Free Market Economy

Laissez Faire




Term

Description

Merger

Specialization

Automation

Salary

Wage

Incentive

Innovation

Blue Collar Worker

White Collar Worker

Keynesian Economics

Consumer Price Index

Law of Diminishing
Returns

Mass Production

Fixed Costs

Variable Costs

Complimentary Goods

Substitute Goods

Interdependence
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Unit 7: Decisions, Decisions
Concept: Scarcity
Definition of Economics:

Scarcity:

Shortage:

= GOAL OF ECONOMICS:

Economic decisions:
° — an alternative we sacrifice when we make
a decision

° — the most desirable alternative given up as
a result of a decision.

The Three Economic Questions
1.

2.
3.
Goods and Services

Good

Service

Four Factors of Production: The resources necessary to produce goods and services.
Definition Examples

Land

Labor

Capital

= Physical
Capital

= Human
Capital

Entrepreneurship

Government
Involvement:

6

On the Side Questions:

1. What is the difference
between Shortage and
Scarcity? Give an example.

2. Provide an example of a TRADE-
OFF that you might have
experienced

3. Provide an example of an
OPPORTUNITY COST that you might
have experienced

4. Name a scenario that you have
had to consider the three economic
questions.

5. Why is Entrepreneurship important
as a factor of production?



Types of Costs:

e Fixed Cost

e Variable Cost

e Marginal Cost

e Marginal Benefit

e  Cost Benefit Analysis:
Cost Benefit

Social Benefit

Optimum

Social Cost
et Cost-Benefit

g—

Increasing Cost —)
Increasing Benefit —)p

0 Percent of Pollution Eliminated 100

COST BENEFIT

Circular flow of economic activities
The circular flow model (sketch picture)

e Factor Market

e Product Market

Consumer:

Producer:

Private Property:

Examples of Government Involvement:

7

9. Explain the difference between
MARGINAL and VARIABLE COST

10. How effective is a Cost Benefit
Analysis in making a business
decision? Why do you think so?

11. Give an example of how you see
Circular Flow occurring in your life.

12. Why is private property such an
important part of the flow of
resources and products?

13. How is government involvement
important for circular flow?



Economic Systems: Different ways that countries can
address the basic economic questions (

and FOR

)

to produce,

Free
Market

Command

Mixed

Traditional

Also
called...

Definition

Who/What
controls
the
economy?

Concepts

Examples

Promote
Growth?

Economist
And
works/the
ory

14. How would a free market
economy be beneficial to the
people?

15. How would a Command economy
be good for the people?



Adam Smith and Karl Marx
Adam Smith-

Capitalism-

Free Market-

Invisible Hand-

Laissez Faire-

Competition

Karl Marx-

Communism-

Socialism-

16. Do you think that the idea of
Laissez Faire would actually work?
Why or why not?

17. Why do you think people believe
socialism is NOT good?



Types of Markets:

e Competitive Market

*  Monopoly 18. When might a monopoly be a
good thing?
e Oligopoly
Market Structure:
g g
= 2
s § I
= £ g
8 i
Measures of Productivity
Productivity
Inputs v Outputs
19. How is

automation/mechanization good for

Service Sector/Economies- Stronger than industrial markets because... .
society? Bad?

Commodities

Specialization/Division of Labor
e  Productivity

e Specialization

e Division of Labor

e Investment in Capital
e Automation

®  Mechanization

10




Mergers
Why do companies merge?

Horizontal Merger

Example: XM and Sirius (government can prevent the merger if they
consider it a monopoly.

Vertical Merger

Examples: McDonalds sells hamburgers. They merge with the companies
that supply the beef, make the paper products, and make kitchen
equipment.

Monopoly v Oligopoly

Monopolies

Natural monopoly

Ex: Duke Power

Government

Ex: Water and sewage

Oligopolies

Ex: American car industry

Conglomerate

Example: GE owns NBC Television

Government intervention
Anti-Trust Laws

Example: Microsoft had monopoly power over operating systems (everyone used them).
Microsoft told computer manufactures if they wanted the OS on their computers they also
had to use their Internet browser (Explorer). The government deemed this a monopoly and
sold off portions of the company to make it more equitable.

11

20. How do mergers affect
consumers?

21. How can a monopoly or
oligopoly negatively affect
consumers?

22. Do you think that the government
should get involved with business?
Why or why not?



SUPPLY AND DEMAND

Demand
° : the desire to own something and the ability to pay
for it 23. Why is it important to understand
the law of demand?
° states that, when all other things are
held equal, as price decreases people are willing to buy . As
price increases people are willing to buy . (Inverse

relationship)

ELASTICITY of DEMAND: How much the quantity demanded will if
the price rises or falls.
] DEMAND: Demand that is very sensitive to a change in
price

e Goods that one might stop buying or cut back on as price increased

° DEMAND: Demand that is not very sensitive to a
change in price

e Goods that you would buy at any price; there are few if any substitutes for
these goods.

Supply
] : The amount of goods and services that businesses .
o 9 24, Why is it important to understand
are willing and able to sell
the law of supply?
° states that, all other things held equal,
businesses are willing to produce more at prices, and
less at prices (direct relationship.)

ELASTICITY of SUPPLY is a measure of the way suppliers respond to a change in price
. SUPPLY — a small increase in price has a big effect on

supply

. SUPPLY — a small increase in price has a small effect on
supply

12



Equilibrium

: the point at which quantity demanded and quantity

supplied meet. 25. Understanding the equilibrium point

can help producers/businesses plan in

At a point of equilibrium.... what ways?

- the price and quantity are balanced
- the market for a good/service is stable

;f-'igurf.' F-10 A Price Below Egquilibrimm
. Results in a Shortage
Excess Demand: when quantity
demanded is more than quantity
supplied

aka

Price

S

—_—
I shortage | 5]
| |

I, S, OQuantity

Figrnre 3-8 A Price Above Equilibrimos
Results in a Surplas

Price

Excess Supply: when quantity
supplied is more than quantity

demanded
aka m

surplus

7

I, S.,, OQuantity

Law of Diminishing Returns:

Government can affect the equilibrium 26. Why are price ceiling and floors

important for consumers?
- Price Ceiling: a price that can be legally

charged for a good or service (example: )
- Price Floor: a price for a good or service
(example: )

Production Possibilities Curve

— 27. Why do producers need to
. understand the Production possibilities
curve?

Quantity of guns produced

Quantity of butter produced

13



Measuring the Economy
GDP

Unemployment Rate
Price Stability

Inflation and Deflation

- : a general increase in prices (over the years,
rise and fall, but in the American economy, they have mostly risen)
- : A substantial drop in the prices

Consumer Price Index
Stock Market

I Financing Corporations
A. Stock

1. Dividends

2. Securities & Exchange

Commission
B. Bonds
C. Interest

GDP
What does it stand for2

What is and is not included in GDP?2
What does it mean?

What about per capita GDP?

GDP (dollars) Per Capita GDP
(dollars / person)

Standard of living (describe)

United States

China

Somalia

14

28. Which of the economic indicators d
you think is MOST likely to show people
if the economy is good or bad?

prices

29. How can the stock market show
what consumers are doing in the
economy?

30. What does GDP really show
consumers are doing?

D




The Business Cycle

31. Why do the indicators move in
cycles?

32. How is a recession different from a
depression?

What would be happening during ...

A contraction? A trough? Expansion? Peak?

33. How does the business cycle
influence consumers?

15




Government Taxes and Spending

Taxes are how the government makes its money. This is called

Different types:
Taxes:

Fees:
Fines:

Tariffs:

Progressive Tax | Regressive Tax Direct Tax Indirect Tax

Excise Tax | Sales Tax | Inheritance Tax | Payroll Tax | Income Property Tax

Tax

Expenditures
The money the government spends is called

Total Spending for United States - FY 2015

Welfare T4

Protection 4%
Transportation 4%
— General Government 2%

Defense 13%
.— Other Spending 6%

Interest 5%
Education 15%:

Pensions 20%

Health Care 22%

List examples of what it is spent on:

What are subsidies?

State & Local Spending: $94.1 bn
North Carolina - FY 2015

Education

34. How do changes in taxes change
how consumers act?

35. Why are taxes so important for the
government?

jparaph usgove rnmentspending .com)

Pros Cons

16




Labor Unions
White Collar Worker —

36. What type of jobs do you think a
blue collar worker would do?

A white collar worker?
Blue Collar Worker —

What is a labor union?
Types of Labor Unions:

Craft
37. How do labor unions protect their

. members?
Trade Unions

Closed Shop
Open Shop

Industrial Unions:

Purpose:
. Workers’ Rights
A. Labor Unions

1. Collective Bargaining

38. Why might some states not allow
labor unions? How can this end up being

a. Taft-Hartley Act o
beneficial for workers?

2. Settling Disputes

a. strikes

b. lockouts
39. Which form of dispute do you think
would be most successful? Why?

c. mediation

d. arbitration

e. Collective Bargaining

17



Scarcity, Economic Decision Making, and Opportunity Costs
For each of the following situations, identify (a) what is scarce (b) what is the opportunity cost.

1. Sally is invited by her friends to join them for pizza and a movie. Sally only has five dollars. Her share of the pizza will be three dollars
and the movie costs four dollars. Sally really want to see the movie, so she decides to go to the movies.
a.

b.

2. Ted has been looking forward to camping in the mountains with his friend Billy since last summer. His friend Nick asks him to join him
at the beach the same weekend. Ted decides to go to the beach.

3. Several weeks ago, Nancy agreed to baby-sit Mrs. Adams” daughter on Saturday, so that Mr. and Mrs. Adams could attend an award
dinner. Mrs. Adams will pay her $7.00 an hour. Nancy is saving for a new CD player. Nancy has been hoping that Jay would ask her
out sometime. Yesterday he finally asked her out...on Saturday night. Nancy accepted Jay’s invitation and cancelled on Mrs. Adams.

4. Kelly has a big Math test on Thursday. She is really struggling in her math class. All of her friends are going to the basketball game
tonight and Kelly decides to go along with them.

5. Cassy is hoping to go to college, but her grades are not very good. She also wants some money to buy new clothes. She decides to take a
job three days a week after school and on the weekends.

6. Tommy is an excellent shortstop and wants to play on the recreation league baseball team. Tommy will need to come to practice every
Wednesday afternoon. He is being tutored in science on Wednesdays, and that is the only day that Mrs. Gallis has free to tutor him.
Mom leaves the decision up to Tommy, and he decides to play baseball.

7. Jo’s mother tells her to take her little sister to the park from 1:00-2:00 and then she can go to the pool with her friends at 3:00. Allison
comes just before Jo is leaving to take her sister to the park and stays until 2:45. Jo never makes it to the park with her sister.

a.

b.

8. Bill Gates sees a hundred-dollar bill on the sidewalk on his way to work. In order to stop and pick it up he would have to be 30 seconds
later to work. The value of the 30 seconds at work is the of him picking up the money. For Mr.
Gates the benefit of is greater than the $100. Who might value the $100
more?

18



Review Costs of Production Name

JOSLIN'S COSTS OF DOING BUSINESS

After Joslin moved her business to a larger store in the mall, Jane (her lawyer and largest stockholder) asked her
to list all the costs she had to pay for one month. Joslin's list appears below. Study the list and indicate which
costs are fixed and which are variable by writing an F or V in the answer space. If you think an item is a
combination of fixed and variable costs, write F/V in the space.

Ilustration 20b

Fixed or Variable? Item Costs for One

Month

Rent $ 1,600.00
Utilities (electricity, phone, and so forth) $ 453.56
Insurance $ 342.00
Lease payment for cash register $ 88.50
Cost of goods sold $ 8,600.00
Advertising fee paid to the mall $ 200.00
Joslin's salary (she has hired no help) $ 1,450.00
Cost of cleaning service paid to the mall $ 240.00
Paper, postage, and other supplies $143.39
Depreciation on investment in $ 245.00
equipment B

$ 13,362.45

Answer the following questions about Joslin's costs.

1. Are most of Joslin's costs fixed or variable?

2. Joslin sold 1,200 bags at $10 each. How much money did she earn from sales?

3. Did the business earn a profit or suffer a loss for the month?

4. How large was the profit or loss?

5. Do you think the business will have larger costs in the future? Explain why or why not.

6. Should Joslin consider offering a wider line of products in the store? Explain why or why not.

7. What else might Joslin do to improve her profit?

19



Another look at Circular Flow

In a free market economy, economic decisions are based on exchange, or trade. Households supply
land, labor and capital to firms in exchange for payment. Firms supply households with good and

services in exchange for payment. -LABEL AND DESCRIBE the different markets, what is flowing for

each arrow. and the sources that provide the flow.

Answer the questions using your knowledge and the chart from above. Use additional paper if you need more space.

1.

10.

11.

12.

13.

14.

15.

What is a product market?

Name two goods that can be being bought and sold in a product market

What is a factor market?

What is monetary flow?

What is physical flow?

How does money spent by businesses in one market end up being earned by households in another market?
What are the objectives of businesses and households in a market economy?

Why did some households end up with more goods and services than other households?
Why did some businesses end up with more profit than others?

What role does self-interest play in a market economy?

What role does money play in a market economy?

What would happen to the prices of resources and products if in the next round, the amount of money businesses started
with doubled?

What would happen if the amount of money were reduced by half?
What is the importance of private property in circular flow?

How does government involvement influence the flow of goods and money?



Factors of Production
Identify how you see these factors of production in these episodes. You should have one thing in
each box, and may have more than one for several boxes.

http://www.youtube.com/watch?v=J-SzdIsjM8M
http://www.youtube.com/watch?v=CxElZJvay8o&feature=related
http://www.youtube.com/watch?v=DHvi6RoQaxQ&feature=related

"Unwrapped" "Unwrapped" "How It's Made"
Kettle Cooked Nerds Footballs
Potato Chips

Land

Labor

Physical Capital

Human Capital

Entrepreneurship

Total examples
(minimum: 5 each)

21



Understanding Supply and Demand Name

Below is the demand schedule for jelly-filled Below is the supply schedule for jelly-filled
doughnuts people are willing and able to buy doughnuts producers are willing to sell at
at various prices. various prices a given period of time.
DEMAND SCHEDULE 1 SUPPLY SCHEDULE 1
Price Per Doughnut Quantity Demanded Price Per Doughnut Quantity Supplied
$.60 100 $.60 300
.50 150 .50 250
40 200 40 200
.30 250 .30 150
.20 300 .20 100

Study these two schedules and answer the questions below. Circle the correct answer.

1. As prices decrease, what happens to the quantity demanded? Increase / Decrease
2. As prices increase, what happens to the quantity demanded? Increase / Decrease
3. As prices decrease, what happens to the quantity supplied? Increase / Decrease
4. As prices increase, what happens to the quantity supplied? Increase / Decrease

5. At what price will the quantity people are willing to buy (quantity demanded) be equal to the quantity that producers are willing to
sell (quantity supplied)?

6. The price where quantity demanded meets quantity supplied is called

7. Graph the supply and demand for jelly-filled doughnuts.

A. Label Qty. Demanded = d
B. Label Qty. Supplied =s
C. Correctly label y and x axis

8. If the price of a doughnut is $.50 will there be a shortage or surplus? Explain.

9. If the price of a doughnut is $.20 will there be a shortage or surplus? Explain.

22



10. Based on the following circumstances, will there be an increase in demand for jelly-filled doughnuts or a decrease in
the demand for jelly-filled doughnuts? Circle the correct answer.

Circumstance Demand for Jelly-filled Doughnuts
a. The number of consumers increases. Increase / Decrease
b. The consumers’ income decreases. Increase / Decrease
c. Jelly-filled doughnuts become Increase / Decrease

the most popular shack.
d. The cost of a fruit pastry increases. Increase / Decrease

e. The cost of coffee served with the doughnuts Increase / Decrease
increases drastically - $10.00 a cup

f. The number of consumers decreases. Increase / Decrease

g. The cost of a cherry strudel decreases. Increase / Decrease
11. All of the examples above will result in (circle the correct answer)
a. amovement along the demand curve
b. ashift in the demand curve

12. Based on the following circumstances, will there be an increase in the supply of jelly-filled doughnuts or a decrease
in the supply of jelly-filled doughnuts? Circle the correct answer.

Circumstance Supply of Jelly-filled Doughnuts
a. The cost of sugar, flour, and jelly increases Increase / Decrease
b. A new machine is invented to produce Increase / Decrease

doughnuts faster.

¢. The workers in the doughnut factory become Increase / Decrease
less productive.

d. The government passes a policy that states Increase / Decrease
that all doughnuts must meet certain
health regulations.

e. All doughnut factories must pay more taxes. Increase / Decrease
f. The factory workers become more productive. Increase / Decrease
g. Doughnut factories are given a subsidy Increase / Decrease

from the government.
13. All of the examples above will result in (circle the correct answer)
a. amovement along the supply curve

b. ashift in the supply curve

23



14. There is an increase in consumer income, thus a change in the demand for jelly-filled doughnuts. Graph the new
demand for doughnuts on the graph from #7.

A. Label the new demand = d1

DEMAND SCHEDULE 2
Price Per Doughnut  Quantity Demanded
$.60 150
50 200
40 250
30 300
20 350

15. Because of this rise in the consumers’ income, there is a shift of the demand curve. The demand curve has shifted to
the

a. right

b. left

16. There is a decrease in the productivity at the jelly-filled doughnut factory, thus a change in the supply of jelly-filled
doughnuts. Graph the new supply of doughnuts on the graph from #7.

A. Label the new supply = sl

SUPPLY SCHEDULE 2
Price Per Doughnut  Quantity Supplied
$.60 250
50 200
40 150
30 100
20 50

17. Because of this decrease in factory productivity, there is a shift of the supply curve. The supply curve has shifted to
the
a. right

b. left

18. At the new supply and demand (s1 and d1) the jelly-filled doughnuts will
efficiently sell for (dollar amount).

19. At the new supply and demand of jelly filled doughnuts, if the price is set at $.60 there will be

a. shortage
b. surplus
¢. equilibrium

20. At the new supply and demand of jelly filled doughnuts, if the price is set at $.40 there will be a
a. shortage
b. surplus
c. equilibrium
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Stock Market Game

Team Name:
Team Members:

Goal: The team with the most MONEY in the bank wins.

Everyone will be forced to sell any remaining stock the last day the stock market is open

Rules:
1. You may buy and sell whatever you want
2. 'You may only buy and sell in lots of 100 shares. So you can buy or sell 100, 200, 300, 400 etc. shares
3. Everyday there is a risk so of losing it all so be careful in your choices.

Beginning Balance: $4,000

Cash in the Shares of | Value of
Bank Stock Stock

Day 1
Day 2
Day 3
Day 4
Day 5
Day 6
Day 7
Day 8
Day 9
Day 10
Day 11
Day 12
Day 13
Day 14
Day 15
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Market Place: Explaining the Stock Market
Video Questions

28

How

o

11.

12.

13.

14.

15.

In what year did the US experience its worst Stock Market crash in history?

This crash triggered a 10 year long crisis of economic collapse and unemployment called the

What type of business mainly existed before the 1800s?
Name two things that sparked the Industrial Revolution

What type of business sells stock to raise money to run their company?
What are “public” corporations?

Who is a “broker”?

Where is the NYSE located? (be specific)

Most brokers recommend buying and selling

. If you sell stock at a higher price than you paid for it, the money you earned is called

A corporation may divide profits among the stockholders. These divided-up stocks are called

Bull market means stock prices are
Bear market means stock prices are

The shows the
trend of stock prices of 30 large industrial companies.

The Securities and Exchange Commission or , how watches over the daily activities of
the stock market.

What do the stock holders of corporations actually do?
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Cost Analysis for the Peterson Pizza Factory

Lesson: Students will participate in a pizza production simulation to determine the effects of specialization,
division of labor, and investment on productivity.

Directions: Use a calculator to determine the costs of your inputs to see if you are increasing productivity.

Outputs: Round One Round Two Round Three

# of accepted pizzas

Inputs: Round One Round Two Round Three

Rent (.25 per desk)

Paper plates (.2 each)

Markers (.5 each)

Ruler (.5)

Labor (1.00 per worker)

Total Costs:

Productivity:
Reflection: How well did your group do?

1. Did you increase your productivity in successive rounds?
a. If yes, what did you do to increase productivity?

b. If no, what caused you problems?

2. What are the fixed and variable costs in the scenario above?
Fixed:

Variable:

3. What are the advantages and disadvantages of specialization and division of labor?

4. What other things could the pizza factory do to increase productivity?

30



Analyze the impact of specialization and division of labor on productivity.

people and businesses make the most of their resources and still increase productivity?

your business) are / is. Productivity is determined as a ratio between your inputs and your outputs.
o are those productive resources you put into production

o are the final outcomes or products

So productivity measures your outputs / inputs. Consider the example below:

KOthuts: Productivity: \
Total number of pizzas Number of pizzas
produced
(divided by) = per hour
Inputs:
kTotaI hours of labor j
*Goal is to your outputs and your inputs.
Ways to increase productivity: Examples:
1.
e Break up one large task into several smaller tasks
e Each worker is responsible for a specific small task
2.
e Workers assigned to the job they do best
e Everyone has a different task
3.
e Workers handle one part of a product
e Often the product moves while the workers stay put
4.
e Use of machines to produce multiple similar items
e Usually involves unskilled workers
5.
e Helps you decide what to specialize in
e Opportunity cost is less to produce one product than another
6.
e Something that improves and changes the way things are done
7.

Move to the use of machines instead of humans to complete tasks

Issue: What are the problems associated with division of labor?

31

: having unlimited wants and needs for limited resources. It always exists. How do

is described as efficiency. The higher your productivity, the more efficient you (or
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